
Total No. of Printed Pages—7

1 SEM TDC ECON (CBCS) DSC 1

2 0 2 1

( March )

ECONOMICS

( Discipline Specific Course )

Paper : DSC–1
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The figures in the margin indicate full marks
for the questions

1. t¡ºt¡ [ƒÚàì¤à¹¹ l¡üv¡¹ [ƒÚà / Ç¡‡ý¡ l¡üv¡¹ìi¡à ¤à[á l¡ü[º*¯à /
Jàºã k¡àÒü šè¹ A¡¹à : 1×8=8

Answer the following questions / Choose the

correct answer / Fill in the blanks :

(a) ë³ï[ºA¡ "=¢î>[t¡A¡ Î³Î¸àìi¡à Ò’º

The basic economic problem is

(i) Ñ¬àÑ‚¸

health
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(ii) [>¹àšv¡à

security

(iii) ƒåº¢®¡t¡à

scarcity

(iv) [>¤¢àW¡>

choice

(b) W¡à[Òƒà ë¹Jà [A¡?

What is demand curve?

(c) &l¡àº [>¹ìšÛ¡ ë¹Jà ÎƒàìÚÒü ëA¡–ƒø¹ šø[t¡ _____¡ú

An indifference curve is always _____ to

the origin.

(d) ‰¤¸ Îã³à¤‡ý¡t¡à ¤å[ºìº [A¡ ¤å\à?

What do you understand by budget

constraint?

(e) š[¹¯t¢¡>Åãº ">åšàt¡ [¤[‹¹ [‡t¡ãÚ Ñz¹t¡

At stage II of law of variable proportion

(i) šøà[”zA¡ l¡ü;šàƒ> ÒùàÎ ÒÚ "à¹ç¡ KØl¡ l¡ü;šàƒ> ¤õ[‡ý¡ ÒÚ

marginal product diminishes and

average product increases
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(ii) KØl¡ l¡ü;šàƒ> ÒùàÎ ÒÚ "à¹ç¡ šøà[”zA¡ l¡ü;šàƒ> ¤õ[‡ý¡ ÒÚ

average product diminishes and

marginal product increases

(iii) šøà[”zA¡ l¡ü;šàƒ> "à¹ç¡ KØl¡ l¡ü;šàƒ> ƒåìÚài¡àÒü ÒùàÎ ÒÚ

both average product and marginal

product diminish

(iv) šøà[”zA¡ l¡ü;šàƒ> "à¹ç¡ KØl¡ l¡ü;šàƒ> ƒåìÚài¡àÒü ¤õ[‡ý¡ ÒÚ

both marginal product and average

product increase

(f) Î³-l¡ü;šàƒ> ë¹Jà¹ n¡àº Ò’º

The slope of an isoquant is

(i) šøà[”zA¡ ¤¸Ú

marginal cost

(ii) KØl¡ ¤¸Ú

average cost

(iii) A¡à[¹A¡¹ã šø[t¡A¡¿>¹ šøà[”zA¡ Òà¹

marginal rate of technical

substitution

(iv) *š¹¹ &i¡à* >ÒÚ

None of the above
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(g) KØl¡ ¤¸Ú ¤å[ºìº [A¡ ¤å\à?

What do you mean by average cost?

(h) ³åk¡ [Ñ‚¹ ¤¸Ú = ³åk¡ ¤¸Ú – _____¡ú

Total fixed cost = Total cost – _____.

2. t¡ºt¡ [ƒÚàÎ³èÒ¹ š¹à [™ ëA¡àì>à W¡à[¹i¡à¹ W¡³å ëi¡àA¡à [ºJà :
5×4=20

Write short notes on any four of the
following :

(a) l¡üšì®¡àv¡û¡à¹ l¡ü‡õv¡

Consumer’s surplus

(b) ë™àKà> [>o¢àÚA¡Î³èÒ

Determinants of supply

(c) ƒ¹ š[¹oà³

Income effect

(d) [>¹ìšÛ¡ ë¹Jà¹ í¤[ÅÊ¡¸Î³èÒ

Properties of indifference curve
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(e) l¡üìƒ¸àK¹ ÒùÑ¬A¡àºã> ë™àKà> ë¹Jà

Short-run industry supply curve

(f) šøà[”zA¡ ¤¸Ú "à¹ç¡ KØl¡ ¤¸Ú¹ ³à\¹ Î´šA¢¡

Relationship between marginal cost and

average cost

3. (a) ë™àKà> [¤[‹ìi¡à l¡üìÀJ A¡¹à¡ú [¤[‹ìi¡à [W¡yÎÒ ¤¸àJ¸à
A¡¹à¡ú ë™àKà> ë¹Jà¹ n¡àº [A¡Ú $‹k¢Kà³ã? 2+8+3=13

State the law of supply. Explain the law

with the help of a diagram. Why does the 

supply curve slope upward?

"=¤à / Or

(b) W¡à[Òƒà¹ [t¡™¢A¡ [Ñ‚[t¡Ñ‚àšA¡t¡à ¤å[ºìº [A¡ ¤å\à? W¡à[Òƒà¹
[t¡™¢A¡ [Ñ‚[t¡Ñ‚àšA¡t¡à¹ [¤[®¡Ä šøA¡à¹Î³èÒ [A¡ [A¡? W¡à[Òƒà¹ 
[t¡™¢A¡ [Ñ‚[t¡Ñ‚àšA¡t¡à¹ P¡¹ç¡Œ "àìºàW¡>à A¡¹à¡ú 2+8+3=13

What is cross elasticity of demand?

What are the different types of cross

elasticity of demand? Discuss the

importance of cross elasticity of demand.

4. (a) Òã¹à-šà>ã Îòà=¹ìi¡à [ºJà¡ú ‘‘ƒ¹ š[¹oà³ íÒìá "àÚ
š[¹oà³ "à¹ç¡ šø[t¡A¡¿> š[¹oà³¹ Î}ì™àK¡ú’’ ¤o¢>à
A¡¹à¡ú 3+10=13

State the diamond-water paradox. “Price 

effect is the combination of income effect 

and substitution effect.” Explain it.
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"=¤à / Or

(b) l¡üšì™à[Kt¡à ³àì> [A¡? [>¹ìšÛ¡ ë¹JàÒü l¡üšì™à[Kt¡à
ëA¡ì>ƒì¹ [¤ìÅÃÈo A¡ì¹? [>¹ìšÛ¡ ë¹Jà [¤ìÅÃÈo¹ š¹à
W¡à[Òƒà ë¹Jà "àÒ¹o A¡¹à šø[yû¡Úàìi¡à ¤o¢>à A¡¹à¡ú

3+10=13

What is utility? How does indifference

curve explain utility? Explain the

process of the derivation of demand

curve from indifference curve.

5. (a) l¡ü;šàƒ> A¡à™¢ [A¡? šø[t¡ƒà> [¤[‹ìi¡à "àìºàW¡>à A¡¹à¡ú
3+10=13

What is production function? Discuss

the law of returns to scale.

"=¤à / Or

(b) Î³-l¡ü;šàƒ> ë¹Jà ¤å[ºìº [A¡ ¤å\à? Î³-l¡ü;šàƒ>
ë¹Jà¹ í¤[ÅÊ¡¸Î³èÒ "àìºàW¡>à A¡¹à¡ú Î³-l¡ü;šàƒ> "à¹ç¡
Î³¤¸Ú ë¹Jà¹ ÎÒàÚt¡ l¡üìƒ¸àv¡û¡à¹ ®¡à¹Îà³¸t¡à ¤o¢>à A¡¹à¡ú

2+5+6=13

What do you mean by isoquant? Discuss 

the properties of isoquant. Explain

producer’s equilibrium with the help of

isoquant and isocost curves.
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6. (a) t¡ºt¡ [ƒÚàì¤à¹¹ šà=¢A¡¸ ëƒJå*¯à : 3+3+3+4=13

Distinguish between the following :

(i) ÒùÑ¬A¡àºã> KØl¡ ¤¸Ú ë¹Jà "à¹ç¡ ƒãQ¢A¡àºã> KØl¡ ¤¸Ú
ë¹Jà

Short-run average cost curve and

Long-run average cost curve

(ii) l¡ü;šàƒ> ¤¸Ú "à¹ç¡ [¤yû¡ã ¤¸Ú

Production cost and Selling cost

(iii) [Ñ‚¹ ¤¸Ú "à¹ç¡ š[¹¯t¢¡>Åãº ¤¸Ú

Fixed cost and Variable cost

(iv) šøà[”zA¡ ¤¸Ú "à¹ç¡ KØl¡ ¤¸Ú

Marginal cost and Average cost

"=¤à / Or

(b) ¤õÒ; ³àyàt¡ l¡ü;šàƒ>¹ [³t¡¤¸[Út¡à "à¹ç¡ "[³t¡¤¸[Út¡à
¤¸àJ¸à A¡¹à¡ú 13

Explain the economies and dis-

economies of scale of large-scale

production.
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